
entropy = 0.0
samples = 15
value = [0, 15]

class = 1

entropy = 0.519
samples = 43
value = [5, 38]

class = 1

entropy = 0.0
samples = 8
value = [0, 8]

class = 1

entropy = 0.918
samples = 6
value = [2, 4]

class = 1

entropy = 0.764
samples = 36
value = [8, 28]

class = 1

entropy = 0.99
samples = 43

value = [19, 24]
class = 1

entropy = 0.0
samples = 4
value = [4, 0]

class = 0

entropy = 0.989
samples = 16
value = [9, 7]

class = 0

entropy = 0.811
samples = 4
value = [1, 3]

class = 1

entropy = 0.0
samples = 13
value = [13, 0]

class = 0

entropy = 0.311
samples = 143
value = [135, 8]

class = 0

entropy = 0.547
samples = 103
value = [90, 13]

class = 0

entropy = 0.702
samples = 21
value = [17, 4]

class = 0

entropy = 0.811
samples = 4
value = [1, 3]

class = 1

entropy = 0.0
samples = 5
value = [0, 5]

class = 1

entropy = 0.989
samples = 41

value = [23, 18]
class = 0

entropy = 0.811
samples = 40

value = [30, 10]
class = 0

entropy = 0.0
samples = 7
value = [7, 0]

class = 0

age <= 23.5
entropy = 0.424

samples = 58
value = [5, 53]

class = 1

entropy = 0.0
samples = 1
value = [1, 0]

class = 0

entropy = 0.0
samples = 57
value = [0, 57]

class = 1

fare <= 135.775
entropy = 0.592

samples = 14
value = [2, 12]

class = 1

embarked_S <= 0.5
entropy = 0.927

samples = 79
value = [27, 52]

class = 1

fare <= 8.673
entropy = 0.934

samples = 20
value = [13, 7]

class = 0

entropy = 0.0
samples = 15
value = [15, 0]

class = 0

fare <= 32.881
entropy = 0.672

samples = 17
value = [14, 3]

class = 0

age <= 26.754
entropy = 0.421
samples = 246

value = [225, 21]
class = 0

entropy = 0.0
samples = 22
value = [22, 0]

class = 0

fare <= 14.852
entropy = 0.855

samples = 25
value = [18, 7]

class = 0

entropy = 0.0
samples = 8
value = [8, 0]

class = 0

fare <= 27.15
entropy = 1.0
samples = 46

value = [23, 23]
class = 0

fare <= 89.552
entropy = 0.747

samples = 47
value = [37, 10]

class = 0

fare <= 28.231
entropy = 0.474

samples = 59
value = [6, 53]

class = 1

parch <= 1.5
entropy = 0.185

samples = 71
value = [2, 69]

class = 1

age <= 27.5
entropy = 0.973

samples = 99
value = [40, 59]

class = 1

fare <= 31.331
entropy = 0.449

samples = 32
value = [29, 3]

class = 0

age <= 45.5
entropy = 0.396
samples = 268

value = [247, 21]
class = 0

age <= 29.5
entropy = 0.746

samples = 33
value = [26, 7]

class = 0

age <= 38.5
entropy = 0.938

samples = 93
value = [60, 33]

class = 0

entropy = 0.0
samples = 13
value = [13, 0]

class = 0

fare <= 28.856
entropy = 0.334
samples = 130
value = [8, 122]

class = 1

fare <= 24.808
entropy = 0.998
samples = 131
value = [69, 62]

class = 0

embarked_C <= 0.5
entropy = 0.446
samples = 301

value = [273, 28]
class = 0

pclass_2 <= 0.5
entropy = 0.895
samples = 106
value = [73, 33]

class = 0

pclass_3 <= 0.5
entropy = 0.875
samples = 261

value = [77, 184]
class = 1

fare <= 26.269
entropy = 0.61
samples = 407

value = [346, 61]
class = 0

adult_male <= 0.5
entropy = 0.948
samples = 668

value = [423, 245]
class = 0


